
Main:

∂αu

∂tα
+ (β + ε up + ϵ u2p)ux + ρ u2r uxx +

ν u3s uxxx + ϑ u4k uxxxx = ηu(τ − um)(un − ω), (0.1)

t > 0, 0 < α < 1, β = ε = ϵ = ρ = ν = ϑ = η = ω = const, p, r, s, k,m, n ≥ 0

eqnarray with &:

∂αu
∂tα

+ (β + ε up + ϵ u2p)ux + ρ u2r uxx +

ν u3s uxxx + ϑ u4k uxxxx = ηu(τ − um)(un − ω), (0.2)

t > 0, 0 < α < 1, β = ε = ϵ = ρ = ν = ϑ = η = ω = const, p, r, s, k,m, n ≥ 0

align with &:

∂αu

∂tα
+ (β + ε up + ϵ u2p)ux + ρ u2r uxx+

ν u3s uxxx + ϑ u4k uxxxx = ηu(τ − um)(un − ω), (0.3)

t > 0, 0 < α < 1, β = ε = ϵ = ρ = ν = ϑ = η = ω = const, p, r, s, k,m, n ≥ 0

split:

∂αu

∂tα
+ (β + ε up + ϵ u2p)ux + ρ u2r uxx+

ν u3s uxxx + ϑ u4k uxxxx = ηu(τ − um)(un − ω),

t > 0, 0 < α < 1, β = ε = ϵ = ρ = ν = ϑ = η = ω = const, p, r, s, k,m, n ≥ 0

(0.4)


